ReadmeO2log84&85

Date Feb 5, 2002

These two loggers were positioned on the drogue line of the buoy train.

Logger 84 was at 10 m

Logger 85 was at 15 M

The loggers were “Langdon loggers”

Both traces showed a systematic drift. The drift was corrected for by taking the average of O2 bottle data for each Niskin for the top 20-m and subtracting that from the logger O2.  This difference was regressed against time using a third order polynomial fit.

Columns (note _85: refer to sensor #)

JD_85 = Julian Day

O2_85 = O2 signal from logger

T_85= Temperature of logger

avCTDO2(umol/kg)= average bottle oxygen from the Niskin bottles in the top 20 m

dif(O2_85-CTD)= difference between logger O2 and CTD O2

dif algorithm= calculated difference using a third order polynomial between dif(O2_85-CTD) and JD

corrected O2-85= O2- dif algorithm.

The coefficients for the polynomial can be found in column J

